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(English Version )

» Note : i) | G:éph "s‘hee'té and stétistical tables will be p}ovided on
request.
Lo ii) Scientific calculators may be used.

iii) Allwofking steps should be clearly shown.
SECTION - A
I Answer the following questions : ' 10x1=10
1. What is a life table ?
2. Define Index Nﬁmber.
3.  Write the formula for ‘Factor fRevgrsal Test’ in Index Number.

4. Give a difference between ‘cyclical’ and ‘irregular’ variations in a time

series,

5. Write the 'prbbab;lity mass function’ of a Bernoulli distribution with

range.

6. In a Normal distribution, given
P(-08<Z«< +O-8)=O;5762.
Find P(Z<+08).

7. What is ‘Standard errpr" &'?"

8. Given H,:y, < u,, write H,.

9. What is ‘mvento;yf ?. . |

10. Write a merit of 'acceptapce §§mpling’ in Statistical quality control.

]
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Code No. 31 - 10
SECTION-B
) IIJ, Answer any ten of the following questions : : 10x2 =20

11. Briefly explain ‘Registration method’ in vital statistics.

12. Calculate consumer price index number  using ‘Family Budget

method’ from the following data :

Items A B Cc D
Group Indices 102 97 108 110
Weights 8 6 | 12 4

13. Find V,, given Epo go =382 and zpl q,=424.
. : / !
14, Write any two merits of ‘Least square method’'.

15. Mention two features of Poisson dist’ribufion.

16. In a Normal distribution, given variance is 9 cm?, find ‘Quartile
deviation’'.
17. Define ‘parameter’ and ‘statistic’.
18. Calculate standard error (p, - pz) :
Given, P, =0-86, P2.=0-50
n, =40 and n, =38.
19. Ina x° -distri'bution if n = 6, find ‘Mode' and /‘Variance'.

20. Mention two characteristics of a ‘COmpei:iti»ve Game'.
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22.

21.

11

Calculate E.O.Q. given,

D = 5000 units/month

C, = Rs. 10/month

C; = Rs. 200/month.

Code No. 31

Write the upper and lower control limits for X -chart, when standards

are not given.

SECTION - C
1L Answef any eight of the following questions : 8 x ‘5 =/4O
23. Calcﬁlate ‘Total Fertility Rate’ from the following data :
Age Groups | Male Female Number of
(in years) population population live births
<15 8,000 7,500 —
15— 20 7,800 7.300 20
20 — 25 7,000 6.800 180
25 — 30 6,600 6,000 260
30 — 35 5,400 5,600 200
35 —40 4,800 5;000 80‘
40 — 45 3,200 4,100 05
> 45 2,100 2,800 —
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24.

25.

26.

27.

28.

Find best school for your studies in your area, for all standards and classes

Explain steps involved in the construction of ‘Consumer Price Index:
Number'.
Calculate F,, by simple average -of price relattves method using

‘Geometric mean’ from the following data s

Items A B - C D B
Prices in 2008 26 32 18 |, 12 | 4o
Prices in 2010 : 28 30 - 20 12 45

Obtain trend values by 5 weekly moving averagés method for the

- following time series. Plot original and trend values on a graph.”

Weeks 1 |2 3|4 |5 |6 |7|8]|9

Production | 15 | 16 | 18 | 18. | 20 | 19 | 22 | 24 | 25

[ ONLY FOR BLIND STUDENTS |

Obtain trend values using 4 weekly moving averages for the above

time series.

In a grove there are 200 trees out of which 50 are .mangd trees.
Among them, if 30 samples of 3 trees- are selected, in how many '
samples will you expect

i)  exactly one mango tree

ii) more than one mango tree ?

2

Mention any five features of ‘Normal Curve'. .
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29. A sémp]e of 50 children is taken from a school. The average weight of

- the children is 28 kgs and standard déviatibn is 5 kgs. Test at 1%

- level of significance, if we can assume that the average weight of the

‘school children is less than 30 kgs.

- 30. Studénts of five colleges of a certain locality participated in a match

AR and sqoredl the following points :

X:3,5,4,2,1

; ;f_','I‘es_‘t"at-(S% level of significance the hypothesis that the population

variance is more than 3.

31 From the following data, test if there is any significant difference

‘between mean marks of a student in two subjects.

Sémple size

Statistics Accountancy
Méan marks 84 80
Saxhple yarianée , 10 08
12 10

Maximise Z = 12x + 8y
subejct to 3x = 2y s 6,
| x +y = 2and

x,yz0,

[ ONLY FOR BLIND STUDENTS ]

' 32. Solve the foliowing Linear programming problem, graphically.

fWrite down the steps for solving a line-a-r‘-programming problem

~ graphically. |
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33. Solve the following Game by ‘Principle of Dominance’ method.

Player A

Player B
B, B, | By | B,
A, 3 5 7 4
A, 6 8 7 6
A, 1 3 3 2
A, 2 4 6 4

34. Calculate control limits for d-chart given p=0-05 and sample

number = 5,

SECTION -D

IV.  Answer any two of the following questions :

2x10=20

35. Construct Fisher's P, from the following data and test if it satisfies

‘Time Reversal Test'.

Prices . Expenditures
Items
2008 2010 2008 2010

A 12 10 96 90
B. 18 204 72 100
C 15 20 90 160

! D 20 22 100 88
E 10 08 90 64
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36.

37.

38.

15 Code No. 31
a)  From the following data, show that Town B is healthier : 5
Age groups Déaths/ 1000 , Standard
(in years ) Town A Town B population
<10 18 12 15,000
10 — 30 6 4 18,000
30 — 50 8 8 22,000
5070 | 10 [ é 12,000
> 70 80 1 90 8,000

b)  Fit a parabolic trend of the form Y =a+bX +cX? for the following

time series : 52
Years 2006 2007 2008 2009 2010
Students strength ‘ '

( in hundreds ) 1% 10' ° 8 11,

'Daily wages‘of 60 workers are normally distributed with mean

Rs. 500 and standard deviation Rs. 40. Find the number of workers
getting wages

i) more than Rs. 530

ii) more than Rs. 490

iii) between Rs. 380 and Rs. 460.

Fit a Poisson Distribution to the following data and test for goodness

of fit at 5% level of significance :

No. of mistakes | 0 1 2 3 4
No. of pages .31 34 21 12 02
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SECTION - E
V. Answer any two of the following questions : o 2x5=10

39. Given: Zgq, p,=376, 2q, p, =3$O
24, p, =384, 2q, p, ;362.
Find :
1) Qo; ( Dorbisch-Bowley )
ii)  Q ( Marshall-Edgeworth )
. and compare, |

40. A machine produced 5 defective articles among 80. After some repair,
the machine produced 3 defective articles among 60. Test whether
the proportion of defective articles have reduced after repair, at 5%

level of significance.

41.” From the following 2 x 2 contingency table, test whether ‘Result’ in a

competitive examination and ‘Employment’ are ihdependent :

Employment
Employed Unemployed
Pass 9 8
Result :
Fail LT 6

42. The cost of a machine is Rs. 6,000. The following gives data collected

in running the machine : ] ,
Years | 1 | 2 3 4 .5 |

Resale value 3200A 1800.- | 1000 500 300

Cost of maintenance | SOd 1000 1400 2000 2500

Determine when it is profitable to replace the machine.
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